PUR-1329 Bulk Gasoline and Diesel Fuel Deliveries

	OPTION 1				& T. Co., Inc. rstown, MD			CATO, Inc. Salisbury, MD		
	Item	OPIS Price as of 09-08-16	B Bidder +/- Factor	C OPIS Price + Bidder Factor (A + B) Per Gallon	Approx. Gallon Usage	E Net Delivered (C X D)	B Bidder +/- Factor	C OPIS Price + Bidder Factor (A + B) Per Gallon	D Approx. Gallon Usage	E  Net  Delivered  (C X D)
	Gasoline Unleaded 87 Octane CBOB Ethanol (10%) Tank-wagon	\$1.4113	\$0.1815	\$1.5928	64,387	\$102,555.61	N/A		64,387	N/A
Sec.	Gasoline Unleaded 89 Octane CBOB Ethanol (10%) Tank-wagon	\$1.5132	\$0.1815	\$1.6947	8,500	\$14,404.95	N/A		8,500	N/A
	Total Sum Gasoline Tank-wagon Deliveries as Described in Section I			\$1	16,960.56					
	Gasoline Unleaded 87 Octane CBOB Ethanol (10%) Transport	\$1.4113	\$0.0275	\$1.4388	197,500	\$284,163.00	\$0.0187	\$1.4300	197,500	\$282,425.00
Sec. II	Gasoline Unleaded 89 Octane CBOB Ethanol (10%) Transport	\$1.5132	\$0.0275	\$1.5407	194,926	\$300,322.49	\$0.0187	\$1.5319	194,926	\$298,607.14
	Total Sum Gasoline Transport Deliveries as Described in Section II			\$5	84,485.49			\$581,032.14		
	Total Sum Diesel Tank-wagon Deliveries as Described in Section III No. 2-D Diesel Ultra Low Sulfur	\$1.441	\$0.1715	\$1.6125	60,875	\$98,160.94	N/A		60,875	N/A
Sec. IV	Total Sum Diesel Transport Deliveries as Described in Section IV No. 2-D Diesel Ultra Low Sulfur	\$1.441	\$0.0300	\$1.4710	656,213	\$965,289.32	\$0.0100	\$1.4510	656,213	\$952,165.06

OPTION 1	A.C. & T. Co., Inc. Hagerstown, MD	CATO, Inc. Salisbury, MD			
Winter Chemical Additive Protection (cost per gallon):	\$0.0300	\$0.0350			
Winter Chemical Additive Protection Product Name:	1400 LHF	Legal Diesel Fuel Additive 1400 LHF			
Manufacturer's Name:	Innospec	Innospec			

PUR-1329 Bulk Gasoline and Diesel Fuel Deliveries

	<b>OPTION 2</b>				& T. Co., Inc.			CATO, Inc. Salisbury, MD		
	Item	OPIS Price as of 09-08-16	B Bidder +/- Factor	C OPIS Price + Bidder Factor (A + B) Per Gallon	Approx. Gallon Usage	E Net Delivered (C X D)	B Bidder +/- Factor	C OPIS Price + Bidder Factor (A + B) Per Gallon	Approx. Gallon Usage	E Net Delivered (C X D)
Sec.	Gasoline Unleaded 87 Octane CBOB Ethanol (10%) Tank-wagon	\$1.4113	\$0.1800	\$1.5913	64,387	\$102,459.03			64,387	
I	Gasoline Unleaded 89 Octane CBOB Ethanol (10%) Tank-wagon	\$1.5132	\$0.1800	\$1.6932	8,500	\$14,392.20			8,500	
	Gasoline Unleaded 87 Octane CBOB Ethanol (10%) Transport	\$1.4113	\$0.0260	\$1.4373	197,500	\$283,866.75			230,000	
II	Gasoline Unleaded 89 Octane CBOB Ethanol (10%) Transport	\$1.5132	\$0.0260	\$1.5392	194,926	\$300,030.10			194,926	
	Total Sum Diesel Tank-wagon Deliveries as Described in Section III No. 2-D Diesel Ultra Low Sulfur	\$1.441	\$0.1700	\$1.6110	60,875	\$98,069.63			60,875	
	Total Sum Diesel Transport Deliveries as Described in Section IV No. 2-D Diesel Ultra Low Sulfur	\$1.441	\$0.0285	\$1.4695	656,213	\$964,305.00			704,213	
	OPTION 2 Total Sum Bid of All Sections 1-4)		\$1,	763,122.71						

OPTION 2	A.C. & T. Co., Inc. Hagerstown, MD	CATO, Inc. Salisbury, MD
Winter Chemical Additive Protection (cost per gallon):	\$0.0300	
Winter Chemical Additive Protection Product Name:	1400 LHF	
Manufacturer's Name:	Innospec	

	OPTION 1				River Energy ilford, CT			Guttman Energy Belle Vernon, PA			
	Item	A OPIS Price as of	B Bidder +/-	C OPIS Price + Bidder Factor	D Approx. Gallon	E Net Delivered	B Bidder +/-	C OPIS Price + Bidder Factor	D Approx. Gallon	E Net Delivered	
		09-08-16	Factor	(A + B) Per Gallon	Usage	(C X D)	Factor	(A + B) Per Gallon	Usage	(C X D)	
	Gasoline Unleaded 87 Octane CBOB Ethanol (10%) Tank-wagon	\$1.4113			64,387	No Bid			64,387	No Bid	
Sec. I	Gasoline Unleaded 89 Octane CBOB Ethanol (10%) Tank-wagon	\$1.5132			8,500	No Bid			8,500	No Bid	
	Total Sum Gasoline Tank-wagon Deliveries as Described in Section I				No Bid				No Bid		
	Gasoline Unleaded 87 Octane CBOB Ethanol (10%) Transport	\$1.4113			197,500	No Bid	+	\$0.0273	197,500	\$5,391.75	
Sec. II	Gasoline Unleaded 89 Octane CBOB Ethanol (10%) Transport	\$1.5132			194,926	No Bid	+	\$0.0273	194,926	\$5,321.48	
	Total Sum Gasoline Transport Deliveries as Described in Section II				No Bid			\$10,713.23*			
	Total Sum Diesel Tank-wagon Deliveries as Described in Section III No. 2-D Diesel Ultra Low Sulfur	\$1.441	\$1.240	\$2.6810	60,875	\$163,205.88			60,875	No Bid	
	Total Sum Diesel Transport Deliveries as Described in	\$1.441	\$0.0423	\$1.4833	656,213	\$973,360.74	Pulled Harrisburg +	\$0.0219	656,213	\$14,371.06	
IV	Section IV No. 2-D Diesel Ultra Low Sulfur					·	Pulled Baltimore +	\$0.0418		\$27,429.70	

OPTION 1	East River Energy Guilford, CT	Guttman Energy Belle Vernon, PA			
Winter Chemical Additive Protection (cost per gallon):	\$0.0330	\$0.0300			
Winter Chemical Additive Protection Product Name:	Legal Diesel Fuel Additive	Winter Additive (can provide test information upon request)			
Manufacturer's Name:	Innospec	Innospec			

PUR-1329 Bulk Gasoline and Diesel Fuel Deliveries

	OPTION 2				River Energy ilford, CT			Guttman Energy Belle Vernon, PA		
	Item	A OPIS Price as of 09-08-16	Bidder +/- Factor	C OPIS Price + Bidder Factor (A + B) Per Gallon	Approx. Gallon Usage	Net Delivered (C X D)	B Bidder +/- Factor	C OPIS Price + Bidder Factor (A + B) Per Gallon	Approx. Gallon Usage	Net Delivered (C X D)
Sec.	Gasoline Unleaded 87 Octane CBOB Ethanol (10%) Tank-wagon	\$1.4113			64,387	No Bid			64,387	
I	Gasoline Unleaded 89 Octane CBOB Ethanol (10%) Tank-wagon	\$1.5132			8,500	No Bid			8,500	
	Gasoline Unleaded 87 Octane CBOB Ethanol (10%) Transport	\$1.4113			197,500	No Bid			197,500	
II	Gasoline Unleaded 89 Octane CBOB Ethanol (10%) Transport	\$1.5132			194,926	No Bid			194,926	
	Total Sum Diesel Tank-wagon Deliveries as Described in Section III No. 2-D Diesel Ultra Low Sulfur	\$1.441			60,875	No Bid			60,875	
	Total Sum Diesel Transport Deliveries as Described in Section IV No. 2-D Diesel Ultra Low Sulfur	\$1.441			656,213	No Bid			656,213	
	OPTION 2 Total Sum Bid of All Sections 1-4)			No Bid						

OPTION 2	East River Energy Guilford, CT	Guttman Energy Belle Vernon, PA
Winter Chemical Additive Protection (cost per gallon):	No Bid	
Winter Chemical Additive Protection Product Name:	No Bid	
Manufacturer's Name:	No Bid	

	OPTION 1				(USA), Inc. ımbia, MD		Mansfield Oil Company of Gainesville, Inc. Gainesville, GA			nesville, Inc.	
	Item	A OPIS Price as of 09-08-16	B Bidder +/- Factor	C OPIS Price + Bidder Factor (A + B) Per Gallon	D Approx. Gallon Usage	E Net Delivered (C X D)	B Bidder +/- Factor	C OPIS Price + Bidder Factor (A + B) Per Gallon	D Approx. Gallon Usage	E  Net  Delivered (C X D)	
	Gasoline Unleaded 87 Octane CBOB Ethanol (10%) Tank-wagon	\$1.4113			64,387	No Bid	\$0.3492	\$1.7605	64,387	\$113,353.31	
Sec. I	Gasoline Unleaded 89 Octane CBOB Ethanol (10%) Tank-wagon	\$1.5132			8,500	No Bid	\$0.4259	\$1.9391	8,500	\$16,482.35	
	Total Sum Gasoline Tanl Deliveries as Described in						\$1	\$1.9391 8,500 <b>\$16,482.35</b> <b>\$129,835.66</b> \$1.4361 197,500 <b>\$283,629.75</b>			
	Gasoline Unleaded 87 Octane CBOB Ethanol (10%) Transport	\$1.4113			197,500	No Bid	\$0.0248	\$1.4361	197,500	\$283,629.75	
Sec. II	Gasoline Unleaded 89 Octane CBOB Ethanol (10%) Transport	\$1.5132			194,926	No Bid	\$0.0091	\$1.5223	194,926	\$296,735.85	
	Total Sum Gasoline Transport Deliveries as Described in Section II							\$5	80,365.60		
	Total Sum Diesel Tank-wagon Deliveries as Described in Section III No. 2-D Diesel Ultra Low Sulfur	\$1.441			60,875	No Bid	\$0.3240	\$1.7650	60,875	\$107,444.38	
Sec. IV	Total Sum Diesel Transport Deliveries as Described in Section IV No. 2-D Diesel Ultra Low Sulfur	\$1.441	\$0.0098	1.4508	656,213	\$952,033.82	\$0.0365	\$1.4775	656,213	\$969,554.71	

OPTION 1	IPC (USA), Inc. Columbia, MD	Mansfield Oil Company of Gainesville, Inc. Gainesville, GA			
Winter Chemical Additive Protection (cost per gallon):	\$0.0200	\$0.0225			
Winter Chemical Additive Protection Product Name:	Diesel Treat 2000	Innospec LHF			
Manufacturer's Name:	Schaffer Manufacturing	Innospec			

PUR-1329 Bulk Gasoline and Diesel Fuel Deliveries

	OPTION 2				(USA), Inc. umbia, MD		Mansfield Oil Company of Gainesville, Inc. Gainesville, GA			nesville, Inc.
	Item	A OPIS Price as of 09-08-16	Bidder +/- Factor	C OPIS Price + Bidder Factor (A + B) Per Gallon	Approx. Gallon Usage	Net Delivered (C X D)	B Bidder +/- Factor	C OPIS Price + Bidder Factor (A + B) Per Gallon	Approx. Gallon Usage	E Net Delivered (C X D)
Sec.	Gasoline Unleaded 87 Octane CBOB Ethanol (10%) Tank-wagon	\$1.4113			64,387	No Bid	\$0.3092	\$1.7205	64,387	\$110,777.83
I	Gasoline Unleaded 89 Octane CBOB Ethanol (10%) Tank-wagon	\$1.5132			8,500	No Bid	\$0.3559	\$1.8691	8,500	\$15,887.35
Sec.	Gasoline Unleaded 87 Octane CBOB Ethanol (10%) Transport	\$1.4113			197,500	No Bid	\$0.0248	\$1.4361	197,500	\$283,629.75
II	Gasoline Unleaded 89 Octane CBOB Ethanol (10%) Transport	\$1.5132			194,926	No Bid	\$0.0091	\$1.5223	194,926	\$296,735.85
	Total Sum Diesel Tank-wagon Deliveries as Described in Section III No. 2-D Diesel Ultra Low Sulfur	\$1.441			60,875	No Bid	\$0.2840	\$1.7250	60,875	\$105,009.38
Sec. IV	Total Sum Diesel Transport Deliveries as Described in Section IV No. 2-D Diesel Ultra Low Sulfur	\$1.441			656,213	No Bid	\$0.0365	\$1.4775	656,213	\$969,554.71
	OPTION 2 Total Sum Bid of All Section Totals (Sections 1-4)				No Bid			\$1,7	781,594.87	

OPTION 2	IPC (USA), Inc. Columbia, MD	Mansfield Oil Company of Gainesville, Inc. Gainesville, GA
Winter Chemical Additive Protection (cost per gallon):		\$0.0225
Winter Chemical Additive Protection Product Name:		Innospec LHF
Manufacturer's Name:		Innospec

PUR-1329 Bulk Gasoline and Diesel Fuel Deliveries

	OPTION 1				PCO, Inc. ston, PA		Petroleum Marketing Group Inc. Woodbridge, VA			
		A OPIS Price	B Bidder	C OPIS Price +	D Approx.	E Net	B Bidder	C OPIS Price +	D Approx.	E Net
	Item	as of 09-08-16	+/- Factor	Bidder Factor (A + B) Per Gallon	Gallon Usage	Delivered (C X D)	+/- Factor	Bidder Factor (A + B) Per Gallon	Gallon Usage	Delivered (C X D)
	Gasoline Unleaded 87 Octane CBOB Ethanol (10%) Tank-wagon	\$1.4113			64,387	No Bid			64,387	No Bid
Sec. I	Gasoline Unleaded 89 Octane CBOB Ethanol (10%) Tank-wagon	\$1.5132			8,500	No Bid			8,500	No Bid
	Total Sum Gasoline Tank-wagon Deliveries as Described in Section I		No Bid			No Bid				
	Gasoline Unleaded 87 Octane CBOB Ethanol (10%) Transport	\$1.4113	\$0.0164	\$1.4277	197,500	\$281,970.75	\$0.0190	\$1.4303	197,500	\$282,484.25
Sec. II	Gasoline Unleaded 89 Octane CBOB Ethanol (10%) Transport	\$1.5132	-\$0.0198	\$1.4934	194,926	\$291,102.49*	\$0.0190	\$1.5322*	194,926	\$298,665.62*
	Total Sum Gasoline Transpo as Described in Section			\$5	73,073.24			\$58	31,149.87*	
	Total Sum Diesel Tank-wagon Deliveries as Described in Section III No. 2-D Diesel Ultra Low Sulfur	\$1.441	No Bid		60,875	No Bid	No Bid		60,875	No Bid
Sec. IV	Total Sum Diesel Transport Deliveries as Described in Section IV No. 2-D Diesel Ultra Low Sulfur	\$1.441	\$0.0329	\$1.4739	656,213	\$967,192.34*	\$0.0175	\$1.4585	656,213	\$957,086.66

OPTION 1	PAPCO, Inc. Aston, PA	Petroleum Marketing Group Inc. Woodbridge, VA		
Winter Chemical Additive Protection (cost per gallon):	\$0.0260 per gallon of treated fuel.	\$0.0325		
Winter Chemical Additive Protection Product Name:	HIGH PERFORMANCE ANTIGEL/DEICER W/VT-330	LEGAL DIESEL FUEL ADDITIVE CFI-1902		
Manufacturer's Name:	VALVTECT	INNOSPEC		

PUR-1329 Bulk Gasoline and Diesel Fuel Deliveries

	<b>OPTION 2</b>				PCO, Inc. ston, PA			Petroleum M	arketing Gro lbridge, VA	oup Inc.
	Item	A OPIS Price as of 09-08-16	Bidder +/- Factor	C OPIS Price + Bidder Factor (A + B) Per Gallon	Approx. Gallon Usage	Net Delivered (C X D)	B Bidder +/- Factor	C OPIS Price + Bidder Factor (A + B) Per Gallon	Approx. Gallon Usage	E Net Delivered (C X D)
Sec.	Gasoline Unleaded 87 Octane CBOB Ethanol (10%) Tank-wagon	\$1.4113			64,387	No Bid	No Bid		64,387	No Bid
I	Gasoline Unleaded 89 Octane CBOB Ethanol (10%) Tank-wagon	\$1.5132			8,500	No Bid	No Bid		8,500	No Bid
Sec.	Gasoline Unleaded 87 Octane CBOB Ethanol (10%) Transport	\$1.4113			197,500	No Bid	\$0.0190	\$1.4303	197,500	\$282,484.25
II	Gasoline Unleaded 89 Octane CBOB Ethanol (10%) Transport	\$1.5132			194,926	No Bid	\$0.0190	\$1.5322*	194,926	\$298,665.62*
	Total Sum Diesel Tank-wagon Deliveries as Described in Section III No. 2-D Diesel Ultra Low Sulfur	\$1.441			60,875	No Bid	No Bid		60,875	No Bid
Sec. IV	Total Sum Diesel Transport Deliveries as Described in Section IV No. 2-D Diesel Ultra Low Sulfur	\$1.441			656,213	No Bid	\$0.0175	\$1.4585	656,213	\$957,086.66
	OPTION 2 Total Sum Bid of All Sections 1-4)				No Bid			\$1,5	38,236.53*	

OPTION 2	PAPCO, Inc. Aston, PA	Petroleum Marketing Group Inc. Woodbridge, VA
Winter Chemical Additive Protection (cost per gallon):		\$0.0325
Winter Chemical Additive Protection Product Name:		LEGAL DIESEL FUEL ADDITIVE CFI-1902
Manufacturer's Name:		INNOSPEC

PUR-1329 Bulk Gasoline and Diesel Fuel Deliveries

	OPTION 1			Petroleum T Fort	raders Corpo Wayne, IN	oration			nergy Comp ork, PA	any
		A	В	C OPIS Price	D	Е	В	C OPIS Price	D	Е
	Item	OPIS Price as of 09-08-16	Bidder +/- Factor	+ Bidder Factor (A + B) Per Gallon	Approx. Gallon Usage	Net Delivered (C X D)	Bidder +/- Factor	+ Bidder Factor (A + B) Per Gallon	Approx. Gallon Usage	Net Delivered (C X D)
	Gasoline Unleaded 87 Octane CBOB Ethanol (10%) Tank-wagon	\$1.4113	No Bid	No Bid	64,387	No Bid	N/B	N/B	64,387	N/B
Sec. I	Gasoline Unleaded 89 Octane CBOB Ethanol (10%) Tank-wagon	\$1.5132	No Bid	No Bid	8,500	No Bid	N/B	N/B	8,500	N/B
	Total Sum Gasoline Tanl Deliveries as Described in	0			No Bid					
	Gasoline Unleaded 87 Octane CBOB Ethanol (10%) Transport	\$1.4113	\$0.0248	\$1.4361	197,500	\$283,629.75	N/B	N/B	197,500	N/B
Sec. II	Gasoline Unleaded 89 Octane CBOB Ethanol (10%) Transport	\$1.5132	-\$0.0072	\$1.5060	194,926	\$293,558.56	N/B	N/B	194,926	N/B
	Total Sum Gasoline Transpo as Described in Section		\$577,188.31						N/B	
	Total Sum Diesel Tank-wagon Deliveries as Described in Section III No. 2-D Diesel Ultra Low Sulfur	\$1.441	No Bid	No Bid	60,875	No Bid	\$0.249	\$1.6900	60,875	\$102,878.75
Sec. IV	Total Sum Diesel Transport Deliveries as Described in Section IV No. 2-D Diesel Ultra Low Sulfur	\$1.441	\$0.0353	\$1.4763	656,213	\$968,767.25	\$0.0425	\$1.4835	656,213	\$973,491.99

OPTION 1	Petroleum Traders Corporation Fort Wayne, IN	Shipley Energy Company York, PA		
Winter Chemical Additive Protection (cost per gallon):	\$0.0250	\$0.025		
Winter Chemical Additive Protection Product Name:	Diesel Treat 2000 Ultra Low Sulfur Winter Premium (#13ULSSW)	DIESEL FUEL SUPPLEMENT W/CETANE BOOST		
Manufacturer's Name:	Schaffer Manufacturing Company	POWER SERVICES		

PUR-1329 Bulk Gasoline and Diesel Fuel Deliveries

	<b>OPTION 2</b>			Petroleum T Fort	raders Corpo Wayne, IN	oration			nergy Compa	any
	Item	A OPIS Price as of 09-08-16	B Bidder +/- Factor	C OPIS Price + Bidder Factor (A + B) Per Gallon	Approx. Gallon Usage	E  Net Delivered (C X D)	B Bidder +/- Factor	C OPIS Price + Bidder Factor (A + B) Per Gallon	Approx. Gallon Usage	E  Net Delivered (C X D)
Sec.	Gasoline Unleaded 87 Octane CBOB Ethanol (10%) Tank-wagon	\$1.4113	No Bid	No Bid	64,387	No Bid	N/B	N/B	64,387	N/B
I	Gasoline Unleaded 89 Octane CBOB Ethanol (10%) Tank-wagon	\$1.5132	No Bid	No Bid	8,500	No Bid	N/B	N/B	8,500	N/B
Sec.	Gasoline Unleaded 87 Octane CBOB Ethanol (10%) Transport	\$1.4113	No Bid	No Bid	197,500	No Bid	N/B	N/B	197,500	N/B
П	Gasoline Unleaded 89 Octane CBOB Ethanol (10%) Transport	\$1.5132	No Bid	No Bid	194,926	No Bid	N/B	N/B	194,926	N/B
	Total Sum Diesel Tank-wagon Deliveries as Described in Section III No. 2-D Diesel Ultra Low Sulfur	\$1.441	No Bid	No Bid	60,875	No Bid	N/B	N/B	60,875	N/B
Sec. IV	Total Sum Diesel Transport Deliveries as Described in Section IV No. 2-D Diesel Ultra Low Sulfur	\$1.441	No Bid	No Bid	656,213	No Bid	N/B	N/B	656,213	N/B
	OPTION 2 Total Sum Bid of All Sections 1-4)				No Bid				N/B	

OPTION 2	Petroleum Traders Corporation Fort Wayne, IN	Shipley Energy Company York, PA
Winter Chemical Additive Protection (cost per gallon):	No Bid	N/B
Winter Chemical Additive Protection Product Name:	Diesel Treat 2000 Ultra Low Sulfur Winter Premium (#13ULSSW)	N/B
Manufacturer's Name:	Schaffer Manufacturing Company	N/B

	OPTION	1			E ENERGY LLAS, TX	
	Item	A OPIS Price as of 09-08-16	B Bidder +/- Factor	C OPIS Price + Bidder Factor (A + B) Per Gallon	D Approx. Gallon Usage	E  Net  Delivered (C X D)
	Gasoline Unleaded 87 Octane CBOB Ethanol (10%) Tank-wagon	\$1.4113			64,387	
Sec. I	Gasoline Unleaded 89 Octane CBOB Ethanol (10%) Tank-wagon	\$1.5132			8,500	
	Total Sum Gasoline Tanl Deliveries as Described in	_				
	Gasoline Unleaded 87 Octane CBOB Ethanol (10%) Transport	\$1.4113	\$0.0292	\$1.4405	197,500	\$284,498.75
Sec. II	Gasoline Unleaded 89 Octane CBOB Ethanol (10%) Transport	\$1.5132	-\$0.0101	\$1.5031	194,926	\$292,993.27
	Total Sum Gasoline Transpo as Described in Section			\$57	77,492.02*	
	Total Sum Diesel Tank-wagon Deliveries as Described in Section III No. 2-D Diesel Ultra Low Sulfur	\$1.441			60,875	
	Total Sum Diesel Transport Deliveries as Described in Section IV No. 2-D Diesel Ultra Low Sulfur	\$1.441	\$0.0599	\$1.5009	656,213	\$984,910.09

OPTION 1	TAC ENERGY DALLAS, TX
Winter Chemical Additive Protection (cost per gallon):	\$0.0350
Winter Chemical Additive Protection Product Name:	Legal Diesel Fuel Additive 1400 LHF
Manufacturer's Name:	Innospec

	OPTION	2			ENERGY LLAS, TX	
	Item	A OPIS Price as of 09-08-16	B Bidder +/- Factor	C OPIS Price + Bidder Factor (A + B) Per Gallon	D Approx. Gallon Usage	E  Net  Delivered (C X D)
Sec.	Gasoline Unleaded 87 Octane CBOB Ethanol (10%) Tank-wagon	\$1.4113			64,387	
I	Gasoline Unleaded 89 Octane CBOB Ethanol (10%) Tank-wagon	\$1.5132			8,500	
Sec.	Gasoline Unleaded 87 Octane CBOB Ethanol (10%) Transport Gasoline Unleaded 89 Octane	\$1.4113			197,500	
II	CBOB Ethanol (10%) Transport	\$1.5132			194,926	
	Total Sum Diesel Tank-wagon Deliveries as Described in Section III No. 2-D Diesel Ultra Low Sulfur	\$1.441			60,875	
	Total Sum Diesel Transport Deliveries as Described in Section IV No. 2-D Diesel Ultra Low Sulfur	\$1.441			656,213	
	OPTION 2 Total Sum Bid of All Sections 1-4)					

OPTION 2	TAC ENERGY DALLAS, TX
Winter Chemical Additive Protection (cost per gallon):	
Winter Chemical Additive Protection Product Name:	
Manufacturer's Name:	